BT msee FL—F

RP100H

ﬁit%#i BR f1 & 4 P



[BRAEXIZTOVTOITFE]

L OEERFRICIE, ROBKX O S AL THY £97,
® RP100H

CERERESCOBRIZIE, HTIROFEAZBINLELZI0,

0iX OHMRES ORERS OHE

.7 BT (Assy) DFEEEMIZOW T, BLRFE TE R0V E DN

DY ETOTITEILZS,

BRI T ERCEETHIENRH Y ETOTITESIZSN,

CERER O SCE A E AT, FIX T A~THM S TE S,

TR

BB AR LRI S 2 TR < 72 E 0,



1-1.

1-2.

2-1.

2-2.

3-1.

3-2.

3-3.

B X

R (1)

&R (2)

BEER (1)

BREER (2

EiRIARER (1)

RiRAER (2)

RREER )

R B R

EfRERER (FTvaY)

11

13

15

17



1-1. S EER8ER (1)




1-1. S} 3ERER (1)

gfl.: HEES | B 5 % B #
1 5003589 |{RENIR 1
2 1001420 |F5% 1
3 5003981 [/8w¥> 1
4 5004040 (FHIRT LTS4 vk 2
5 1000651 [ARJLk 4 M12x25
6 1001326 |(RTY T Twi v 4 M12
7 1004152 |BA#R3 L 4
8 1001290 |Fwk 4 M12
9 1001326 |RTY T Twix 4 M12
10 1001382 |Twi 4 12.5x35x3
11 1000651 |ARJLk 4 M12x25
12 1001326 |(RTY T Twix 4 M12
13 1001353 |[FL—rTviy 4 M12
14 5003587 |7S4vk(C) 1
15 1000609 [ARJLk 2 M8x20
16 1001324 |(RTY T Twi v 2 M8
17 1001351 |[FL—rTvdx 2 M8
18 1001856 [R7L 4 1
19 1001851 |RFwTYo 5 1
20 5003595 |(Hhy TS vk 1
21 1004062 |HvT) 5 2
22 5003312 |Fx> L /\— 1
23 1000609 [ARJLk 1 M8x20
24 1001324 |(RTY T Twix 1 M8
25 1001373 |Twi 1 8.5x30x3
26 5004042 |T U8B 1
27 5000289 |RbyTI L 2
28 1002018 |Twi 2 10.5x40x6
29 1001289 |Fwhk 2 M10




1-2. 51 5ER81R (2)




1-2. S EERRR (2)

22 kil E L & REm?H L
1 1004852 [T oY 1

2 1000613 [RJLk 4 M8x35
3 1001324 |RTY T Twix 4 M8

4 1001351 |[FL—r vy 4 M8

5 5004122 |ToPUH—K 1

6 1000630 |7RJLk 4 M10x20
7 1001325 |RTY T Tviw 4 M10

8 1001352 |[FL—r vy 4 M10

9 5003309 [R)LkA/N— 1

10 1000614 |AJLk 4 M8x40
11 1001324 |RTY T Twix 4 M8

12 1001351 |[FL—rTvix 4 M8

13 5003594 |A Y AKh/N— 1

14 1000609 [ARJLk 4 M8x20
15 1001333 |[H5/\RTviy 4 M8 (H)
16 1000630 |[ARJLk 2 M10x20
17 1001325 |(RTY T Tvix 2 M10

18 1004197 |95YF 1

19 4002686 |¥— 1 5x5x33 A
20 1000612 [/RJLk 1 M8x30
21 1001324 |RTY T Twix 1 M8

22 1003982 |Twi 1 8.5x28x4.5
23 1004377 |VARJLk 1 RAF3350
24 5003313 |JL—TH/\— 1

25 5003568 |IL—PTL —Fk 1

26 1000611 [/RJLk 3 M8x25
27 1001324 |RTY T Twix 3 M8

28 1001303 |FAB>F vk 3 M8

29 5003314 (U5 vFhS5— 1

30 5003596 |ILH/N— 1

31 1004147 |(M/pR 6 M6x8
32 9000532 |FL > 7h—RAAssy 1

33 1004151 |FL2h—R 1

34 5003366 |FL T34 vk 1

35 1000609 |AJLk 1 M8x20
36 1001324 |(RTY T Twix 1 M8

37 4004359 |PaA bk, kLY 2

38 4004360 |95>F . Fa—7 (D12) 2

39 4002436 |Tvi v FLVTSY 3

40 4002428 |KL>TF354 1




2-1. #ERAR (1)

28 J
I .
29 | A

Ta
&




2-1. #ERAER (1)

gfl,: HEES w8 & W B #
1 5003569 |#E&{E/\2RIL 1

2 5003570 |/\VRILT S vk (A) 1

3 1000632 |RJLk 2 M10x25
4 1001325 |(RTY T Tvix 2 M10

5 1001352 |[FL—r vy 2 M10
6 5003571 |/\URILT v T 1

7 1000609 |AJLk 2 M8x20
8 1001324 |(RTY T Twix 2 M8

9 1001351 |[FL—r vy 2 M8

10 5003772 |I\VEILTSHvk (B) 1

11 5003773 |E> 1

12 5003774 |/ 1

13 5003775 |RF)Y 1

14 1000587 |[RJLk 1 M6x12
15 1001323 |RTY T Iwix 1 M6

16 1001369 |Twiv 1 6.5x16x3
17 9000643 |/\>K/LOYHE > Assy 1

18 5003577 |HhS5—(A) 1

19 1004196 |Jwia 2

20 1004360 [/RAIUTAHRILE 1 M10x120
21 1001289 |Fwhk 1 M10
22 1001325 |(RTY T Tvix 1 M10
23 1001352 |[FL—rTviy 2 M10
24 5003578 |Rbw/S—TLTSH vk 1

25 1000607 |ARJLk 1 M8x16
26 1001324 |(RTY T Twix 1 M8
27 1001371 |Twi 1 8.5x20x3
28 1004360 |/RAIUTRILE 1 M10x120
29 1001352 |[FL—rTvix 1 M10
30 1001304 |/ F vk 1 M10
31 1001352 |[FL—rTviy 1 M10
32 5000289 [RkvyFT L 1

33 1001289 |Fwk 1 M10
34 1001325 |(RTY T Tvi v 1 M10
35 5003580 |/\VFILRAMYTT L 1




2-2. #{ERE&R (2)




2-2. #1ERIR (2)

gfl.: HEES w8 & W B

1 5003572 |#&{EL/\— 1

2 1004368 |[Jwia 2

3 1000634 |RJLk 2 M10x35
4 1002633 |M/\x 4 H10
5 1001376 |Twiv 4 10.5x25x3
6 1001289 |Fwk 4 M10
7 1004371 [#EY3d L 1

8 1004375 |#EE74Y¥ 1

9 1004407 |AIS—bFa—T 1

10 1002735 |[AYKIKR 2

11 1000594 |[ARJLk 1 M6x25
12 1000592 [ARJLk 1 M6x20
13 1001323 |RTY T Twix 2 M6
14 1001369 |Twiv 5 6.5x16x3
15 5003369 |95 1

16 1004154 | Ls 1

17 1000592 |ARJLk 2 M6x20
18 1001323 |(RTY T Tviw 2 M6
19 9000514 |ROwkJLL/N\—Assy 1

20 5003622 [L/A—HAK 1

21 1000594 |ARJLk 2 M6x25
22 1001323 |(RTY T Twiw 2 M6
23 1001287 |Fwhk 2 M6
24 5003579 |ROWkILT A 1

25 5000903 |RFY4Y 1

26 1002538 |UE!ItRHY) v T 2

27 1000590 |[ARJLk 2 M6x16
28 1001350 |[FL—rTvix 3 M6
29 1001323 |(RTY T Iwix 2 M6
30 1001287 |Fwk 1 M6
31 1001350 |[FL—rTviy 4 M6
32 1004346 |04 1




3-1. EEiRFE R (1)




3-1. EEiRAER R (1)

gfl,: HEES w8 & W B #
1 5003598 |EIR{IKTr—R 1

2 1000858 |/NAIUTARILE 6 M12x130
3 1001335 |[HS5/\RTviy 6 M12 (H)

4 1000653 |ARJLk 2 M12x35
5 1001326 |RTY T Tviw 2 M12

6 1001381 |Twi 2 13x25x3
7 1001393 |/\REY 2 5x18

8 5003599 |[H/3—(A) 1

9 1000614 [RJLk 6 M8x40
10 1001324 |(RTY T Twix 6 M8

11 1001351 |[FL—rTviy 6 M8

12 5004044 |HzAhk 1

13 1000486 [ARJL+ 1 M14x45
14 1001327 |(RTY T Ivix 1 M14

15 5003604 | ¥ Tk(B) 1

16 1001409 [RF7YL5 2

17 1001540 |04 2

18 1004054 |¥F— 1 8x7x30 F L
19 5003605 |[F—1)(A) 1

20 1000632 |AJLk 1 M10x25
21 1001325 |RTY T Tviw 1 M10

22 1001379 |Twi 1 10.5x40x4.5
23 5003608 [/Sv¥F> (A) 1

24 5003607 [XFYLSEI(A) 1

25 1000609 [ARJLk 4 M8x20
26 1001324 |(RTY T Twix 4 M8

27 1001407 |AAIIL—IL 1

10




3-2. EEiRFER (2)

11



3-2. iR FER (2)

gfl,: HEES w8 & W B #
1 5003600 |H/3—(B) 1

2 1000609 |7RJLk 8 M8x20

3 1001324 |RTY T Twix 8 M8

4 1001407 |AAIL—IL 1

5 1001540 [0V % 2

6 5003601 |[#©/3—(C) 1

7 1000609 |AJLk 4 M8x20

8 1001324 |(RTY T Twix 4 M8

9 5004044 |9z Ak 1

10 1000486 [ARJLk 1 M14x45
11 1001327 |RTY T Tviw 1 M14

12 5003603 |+ Tk(A) 1

13 1001409 [RF7YL5 2

14 1004054 |¥F— 1 8x7x30 AL
15 5003605 |Z—1J(A) 1

16 1000632 |ARJLk 1 M10x25
17 1001325 |(RTY T Tvix 1 M10

18 1001379 |Twi 1 10.5x40x4.5
19 5004045 (VZF—1) 1

20 1000632 |AJLk 1 M10x25
21 1001325 |RTY T Tviw 1 M10

22 1002018 |Twi 1 10.5x40x6
23 5003607 [XF7YUTEI(A) 1

24 1000609 [ARJLk 4 M8x20
25 1001324 |RTY T Twix 4 M8

26 1001407 |AAIIL—IL 1

27 1004376 |22 Rk 1

12




3-3. EEiR{FER (3)

13



3-3. iR {FE R (3)

gfl,: HEES w8 & W B #
1 5003320 |F—1(B) 2

2 1003987 [RF7YLH 4

3 1002051 |RFvTY 5 4

4 5003606 [T iar7—L 1

5 1002708 |(R7YL45 1

6 1001566 [R72 45 1

7 1001531 |RFwTY 5 1

8 5003258 |TS54 vk (A) 1

9 1000609 |7RJLk 1 M8x20
10 1001324 |(RTY T Twix 1 M8

11 1001489 |Twiv 1 8.5x25x3
12 1004139 |[¥F— 1 5x5x12 Bl
13 5003322 [Hh5—(A) 2

14 5003323 |H5— 1

15 1000847 [/RAIUTARILE 2 M12x55
16 1001335 |[HS/\RTvyiw 2 M12 (H)
17 5003610 |[Friav7—Lh5—(A) 2

18 5003611 |(Friav7—Lh5—(B) 1

19 5003357 |74 vk(B) 2

20 1000799 [/RAIUTARILE 4 M8x20
21 1001333 |[YS/\RTvyiw 4 M8 (H)
22 1003993 |Rkw/Ss—3 L 2

23 1001287 |Fwhk 2 M6
24 1001323 |(RTY T Tvix 2 M6

25 1001368 |Twi 2 6.5x16x2

14




4. SatRES R

15



4. iR &R

gfl,: HEES w8 & W B #
1 1004761 |&4:&844R (JESE M) 1

2 9000546 |$&#RAssy 1 RP100

3 1004226 |T>JL L (meiwa) 1 meiwa

4 1004231 |2 K $44% (RP100) 1

5 1001923 |5RJL 1 IV7°VA

6 1001947 [$E1ESER 1

7 1004222 [ZR)L 1 (BE—KR)
8 1004234 |SRJL. TP [EER 1 (3500-3600)
9 1002287 |2 1 NI DR A A FH
10 1002286 |SNJL 1 B ikERBAE
11 1002284 |SRJL 1 B




5. EMERE R (FTav)

5 2 - B

/

{
e

17



5. EMER R (FTav)

gg HEES w8 & B2 #
1 9000545 |EkE Assy 1

2 5003670 |:EfkEE 1

3 1001426 |&24 2

4 1001357 |[FL—rviw 2 M20

5 1001396 |EIE> 2 5x40

6 1002669 |EIE> 1 3x25

18




(M

meiwa

wataxt BARIZERR

BHOR OEERT
X R E%pr
BHEBEER
& M Expr
il & =EEpT
B8 # HARAT
N o I
BEEYa—

T 334-0063
T536-0021
T454-0869
T816-0921
T984-0042
T378-0122
T 334-0063
T 334-0063

N o m ® K # 5
X BR H WEREKRS 3-2-20
% & B hIIRHFI-32
BRR KBEHHMEI-10-33
iled BEHEKFIRT4-23-10
HERBEMARETER1480
N[ m ® KX # 5
o m = X # 5

http://www.meiwa-ltd.co jp

TEL (048) 284-8883
TEL (06)6961-0747
TEL (052) 361-5285
TEL (092)502-9100
TEL (022) 236-0235
TEL (0278)53-4075
TEL (048)283-1611
TEL (048) 280-5555

180928

AX (
AX (
AX (
AX (
AX (022) 236-0237
AX (
AX (
AX (

048) 282-0234
06) 6961-9303
052) 361-5257
092)502-9104

0278)53-3807
048) 282-0234
048) 282-0330



